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¢ 150 BT
¢ 200 &P
¢ 250 BT




HE®RE KR (B

LA LRJL2 LARJL3 LRJL4 LARJL5 BAGL = fi&
IZERS Iig =Rl 7 bSki
MAESLVFKRHT
EBRLT
ERRIEH
HEIE Al BHO.13m® m® 7 7.2
ERER
BRI (KAL) BHO.13m® m® 5 5.0
BET  (EEH) m® 2 1.7
EELTUHT
BTNy E R (BRi5~ 05 15) DT2t,BHO.13m A m® 2 1.6
RE (RiG~RES)
BRE(RES~L515)
Bt ERET
BEELE-LE $100 L=4.95m BT 2 2
BEE SRB ¢ 100 x 800 X 14 14
BEIEEEmMK JLEZO, ¢100 m 9.9 9.90
a2/89h90° X E ¢ 100 1&
90° AEXE ¢ 200 % ¢ 100 & 1 1
TUR—ILAIES#F ¢ 100 ] 1 1
ERvavk 200X ¢ 100 &
60° HAE ¢ 100 Ve
FrvS ¢ 100 & 2 2
Fiik= m
WET
BREMARZE-HET  H=20m m
XRIZE-BET 168 m
BREWMAREFE-HETL  H=25m m
XRIZE-BET 168 m
BREWMEAREFE-HETL  H=25m m
XRIZE-BET 28% m




HE®RE KR (B

LA LRJL2 LARJL3 LRJL4 LARJL5 BAGL = fi&
IEXRHD Iig EF1l #H71 b3k
FHL
SERET
SHEUMT
FAI7ILE 15cmET m 48
a9 )—k 15cmZET m
SERERT
BHIC &S E RS FRI7ILE BH0.28m° t=10cmLL T m? 60
BHIZ KA EIEIRHI avyy—k BH0.28m® t=10cmLL T m?
HEDE=HDOIREAI
BHIC LA E R HI BH0.28m3 m? 2
OB LIE T
(A)F L Th5y Bk (155~ 5 ) BH0.28m3 DT4t m® 8
(Co)F T rov Bk (BRig~ U5 th) BH0.28m3 DT4t m?
3
m
(BD)FVTrSv 0B (BRI ~M5Hh) BH0.28m3 DT4t m® 2
HERIBT
BRAET
L ERE EE-EH#E BERGRRERM-30 t=20cm m? 42
TE®RE EE- =8 BEBREM-40 t=15¢m m? 42
®ET
(REIR) BHEMEHEAs t=5cm m? 42
RET EE-FHE BEBHEAs t=5¢m m? 48
HEET EE-HE BEHAEAs t=5cm m? 48
ERTEMEBEEIET
AR X EAR
XEHRI AR -FE) Ak EHE W=15cm H m 15
REHRT GERR-F8) SR Ef8 W=45cm B m
XEHRI ARt -FE) BESE EE W=45cm H m
XEHRT At -F&) XF E W=15cm H m
XEHRI GArX-F8) L5 EH W=15cm H m
REE
TEEEA A 12 |A4, B8
HiBREE
HiBREE
BiRE

e 35 #1 B R B




&E& $200 T H H H E % P
@
X A 5 BEIE{EEZILE ¢200
® A s k< &
8 &) o o T
% % Bt E E E & 2 0% £ 08 | TL8T
=l = =
L L” L-L” SRA PE
(FHD 4.00m 4.00m 0.5m 1.00m 0.5m
(7D (m) (m) (m) *) (m) () () %)
No.87 0.45
No.88 15.00 0.37 14.18 3 2.18 2
= 15.00 0.82 14.18 3 218 2




BE  $200 XAEXTIHEHER $200 EHE= 00366 Bl
©)
% B A & X & i | dEE| % B’ # &l BHEL % i
" = 5] 173 Hil b + I i
% % izl T £} | ERE El E AH | "oy | A=V E +
= =1 =1 7% B K Hil EVILY i
b3 TEIE
HRE (ExW
(TIFE) | @mERAS Z1 A=W x A=W x (H-E-g%)| —EWm) A-GRAL =
No. L L’ w H E zr Z2" |[(H-Z1)XL|(H-Z1)xL| XWXL XL /0.9)
(mm) (m) (m) (m) (m) (m) (m) (m) (m®) (m®) (m®) (m®) (m®)
87 2.02 (0.88) i
1 80 88 $200| 15.00 14.18 0.80 1.32 | 0416 | 0.10 0.30 25.8 11.0 4.4 13.6 0.28
2
3
4
5
6
7
8
9
10
11
12
13
14
15
(15.00) | (14.18)
& Gt 15.00 14.18 25.8 11.0 4.4 13.6




H¥h

+ =] T & Hy = o
2 E2 M KXk
BiEES  KREEE THIELHE L8BEE F O [H=200m H=250m H=250m H=300m | H=350m H=400m ® &
FRIE  ZXREIIE ZXHREIEE XHFEIEE XFEI F BRI
80 15.00 1.32 e 15.00
I 15.00 15.00




OSHMAYVR—ILBEHEED _ #REF!

Bole, | A B E BN B w LB & | #| avsy—FEBH TRALHEEL ) =

2 = LIl gg|E[E(era] & [ A HERE: (cm) s B =

& ® EER & 2 |l |® & | g £ E__E B B | @B ey

5 [ (No)] m) | 7 (m) | & |(mm)] (M) (m) | O (mm)| F. |(mm) 60] 90[120[150]180] 30] 60] 90]120[150]180] 30] 45] 60] 15] 5[ 10] 15[ 10.5] 12.5] 21.0] 25.0] #*

200

go | 88 | 1.213] vu[ 18657] VU] 100] "19.030| 0373 %] 1 1 I I I O L1l | L Ll 1] 1] T-25
[ 11 | [ 1 1 | | [ | [ 1 | |
I I T I | | | [ 1 I I
I I T I | | | [ 1 I I
[ 11 | [ 1 1 | | [ | [ 1 | |
I I T I | | | [ 1 I I
[ 11 | [ 1 1 | | [ | [ 1 | |
I I T I | | | [ 1 I I
[ 11 | [ 1 1 | | [ | [ 1 | |
I I T I | | | [ 1 I I
[ 11 | [ 1 1 | | [ | [ 1 | |
I I T I | | | [ 1 I I
[ 11 | [ 1 1 | | [ | [ 1 | |
I I T I | | | [ 1 I I
[ |1 1 [ | | 1 | | | |

1 ERT N= 1 & &S| 100 100
2 70vHFEFT H=S20 1 & 200 150
20<H=30 il & &| 250 200 il 1 | ] | [ | | | | | 1] | | | 1 ] 1| 1




OBE#HIX~TYHA—ILES I

£ 5 it g =% Hi|H% 2
BT 1+ El5
1 ERrEY

Wb V= w/4 x 0752 %(017+ 020 /2)

- /4% 0202%2x 1/2 x 0.5

m| 0.11
t= 0.20m
BAREBT |A= n/4x 0952 m?| 0.71
B I (A= 71 X 020 x 1/2 x 075 m? | 024
ELFLLEFEYT(A= /4 x  075%2- 020 x 075

+ 7T X 020 x 075 2

m?| 053




VU 100 BRTEMBRUVLIEHEE
@
5 B A X B I B 14 HY © | e LB B &4 (¢ 100) & i
® N & fF t 14 AT k=3 53 g
& & ® & 4~ |t EEE T fit B | BRL  REL HiE i % %
5 5 5 ] By T K i & BEE 2N W0RIESUE-LE ER | 60HE | Frv7 & T B
=T E i3 WXE | XE ALSHMFE | vk mug- | h= 1
23 & Mg | KEE| SRB 200 200 ¢ 200 (RALE 0314
FiE | $200 ~$100 -¢100 ~¢100 R/09)
No. K H L L1 LXK EHIE | WAL “t FOELEE =
(m) () | (m) (m) (m) (m) (m) (7D | (X) (X) (X) (X) (X) (X) (X) (m*) (m*) (m*) (m*) (m) (m)
No.87 1.35
1| 80 No88 | 040 | L | 1 | 090 490 4.50 490 | 055 1 7 1 1 3.85 2.91 0.62 0.95 0.10
No.87 1.25
2 | 80 No88 | 040 | L | 1 | 080 500 4.60 500 | 055 7 1 1 3.31 2.08 1.00 0.79 0.10
3
4
5
6
7
8
9
10
1
12
13
14
15
16
17
18
19
B 2 9.10 9.90 1 14 1 1 2 7.16 4.99 1.62 1.74
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AES B EER
HEE HEE | HEE HEE  HEE | HEE  HEE | HEE
@ @ ® @ ® @ @ ®
I iE FtEstiE B B 8
1 SABUIMT

As 15cmET 30.0 18.2 m 482

Co 15cmZET m

2 SRR

As 10cm 484 1.9 1l 60.3

As 4cm m

Co 10cm m

3 BRARYEAIT TITEHE
4 ASTHET (FAEEIERSER)

REIL(EE-HE) BAFHIEAs t=5cm 48.4 n 484
HEI(EE-HE) BAHAIEAs t=5cm 48.4 n 484

=REI(ENE-EE) BAEEHEAs t=4cm m

KEI(EE-HE) av9)—k t=10cm m

5 BT

LTERET(EE-HE) FAEHFME RM-30 t=20cm 30.3 11.9 m 422
TREREI(EE-#HE) BAEMEA M-40 t=15cm 30.3 11.9 m 42.2

XA T (BTE - B58) BAERFRE RM-30 t=10cm m

XA T (BTE - B58) BAEAFRE RM-30 t=9cm m

6 REIBT

REL(EE-EHE) FAEHBIEAs t=5cm 30.3 11.9 m 422

REILEE-HE) B EHAs t=3cm Il

7 SHERRAE R T (R E1R)
NyyhyEETEE] As t=10emBPL T 30.3 11.9 m 422
8 SEDT=HDIEAI

N'y)5790.28m° 1.5 0.6 m 2.1
9 HZIEHMS T —Et 15 0.6 m 2.1
AsHS 6.4 1.8 m 8.2

Cotio m
10 REZT SHMEIER w=15cm(E) m 15.0

248 w=15cm(E) m

{E1E$R w=30cm(H) m

{Z 1R w=45cm (H) m

T AE w=45cm (H) m

XFUEFEN) w=15cm(B) m

XF(R)=IY) =) w=15cm(E) m

5 (L) w=15cm(A) m

i 5(O) w=15em(A) m
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BRCE JCN-§:i5))

fuE O
HET REIHT BEET SHEEUEL & SHEMT B+ A
& % A X E i £ 2 = B D=axL E=bXxL E=bxL G E i
% oM B H B DFHD S i
& & i L] B (B | (B ' & B | kBT HZEBI %REI tE | TEB EE | @rw1) R
= = = o 8 (=] Iz] BMET  BRBT KRBT xL %
Wi B Bl | B2 C1 C2 1§ 18 | ZHiAs | FEMIAs | Co | JHKIAs [HIRE YARE YRARE As Co As Co | ASE | cozk | t®
L C1,C2>1.2mMDk F Lx2
C1,62=0 a b t=5cm | t=5cm | t=10cm | t=5cm | t=20cm | t=15cm | t=9cm t=10cm | t=10cm | t=5cm t=10cm | t=10cm =
t=5cm
m) | M | m | m M M m m  m [ (m (m) (m) (m) (m) (m) (m) (m®) (m) (m) (m) m | m | @™ m)
87
1 80 88 15.00 2.02 2.02 48.4 48.4 30.3 30.3 30.3 1.5 48.4 30.3 30.0 6.4 1.5
2
3
4
5
6
7
8
9
10
11
12
13
14
15
it 15.00 484 48.4 30.3 30.3 30.3 1.5 484 30.3 30.0 6.4 1.5




& &% & B &t B & MAEHRS)

HEE O
WET BT REBT SHEIRL = EEIIL RS
% A x i1 X 7K i1 & 18 # B & E3 2 D=axL E=bXL F=BxL| &% il
% 3 o ® B4 % | M B Db % #
& & fa & Hl = & K 2 () & & | & % B |REI AEBI tE | TE aun’ | HEAI i)
5 5 5 =S B lZid 2 [2] BRAET | BRERT  BRMET %
il % B B1 B2 | Ci c2 = i@ |ZHAs| #HIAs| Co |HMERE YARE YARE|EEEN As Co F As Co | AS#%  CO&% | L
L C1,02>1.2mD B
C1,62=0| a b t=bcm | t=5cm | t=10cm|t=20cm|t=15cm| t=9cm | t=5cm t=10cm | t=10cm| t=5cm | L X2 t=10cm| t=10cm =
t=5cm
(m) (m) (m) | (&R (m) (m) m)  (m)  (m)  (m) (m) (m) (n) () (nf) () (nf) () (nf) (m*) (nf) () (n) (m) (m) (m*) (m®) (m*)
L 490 | 040 1 450 | 1.35 1.35 6.1 6.1 6.1 0.30 6.1 6.1 9.0 0.92 0.30
L 500 | 0.0 1 460 | 1.25 1.25 5.8 5.8 5.8 0.30 5.8 5.8 9.2 0.87 0.30

11.9 11.9 11.9 0.60 11.9 11.9 18.2 1.8 0.6
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(B2 m)
B oM =R RAUR

B XF -5
#® = = L4 L4 = = i1 1tFENn RU—IL L <& KHI ER (B | ®R (B
] R 8 R R 1k 1k HE =y w =
= (=) (&) (=) (&) % = 20 10 5 9 10

E15¢cm fig15cm HE15cm fig15cm 1E30cm fig45cm 1E45cm  |0@15ecm#RE 0F15ecm#RE | HF15emiR | 18 15em#E | 1B 15emiE| dF15cm fig15cm
80 15.00
I EE 15.00
& & 15.00




BHBREURRMEREEDNHTE

I i
%Al WAl s = s
1, S ER
WA - (S HAMR H=2.0m W= 0250 X 200 X 2
X 0.0148 = t
BE2fXiR H=2.5m W= 0250 X 250 X 2
X 0.0148 = t
B2MXiR H=3.0m W= 0250 X 300 X 2
X 0.0148 = t
B2MXiR H=3.5m W= 0250 X 350 X 2
X 0.0148 = t
B2MXiR H=4.0m W= 0250 X 400 X 2
X 0.0148 = t
a&t t t
2. XEEER
AE|VUD150 FEHFEY N= 3.0 3 H
VUD 150 H=2.0m 1E% [N= A
VUD 150 H=25m 1E&  [N= 5|
VU®D 150 H=25m 2B% [N= A
VU® 150 H=3.0m 2B% [N= 5|
VU®D 150 H=35m 2B% [N= A
VU® 150 H=35m 3E% [N= 5|
VU®D 150 H=4.0m 3E% [N= A
WA E(VUD100 EHEY N= 1R
VUD100 H=20m 1E% [N= A
VUD100 H=25m 1E& [N= 5|
VUD100 H=25m 2B% [N= A
INEE 4 B
ait 4 H 3 = 12 12 A
3. FHIKET
AE|IVUP150 H=20m 1%  [N= A
VUD 150 H=25m 1E& [N= 5|
VU®D 150 H=25m 2B% [N= A
VU® 150 H=3.0m 2B% [N= 5|
VU®D 150 H=35m 2B% [N= A
VU® 150 H=35m 3E% [N= 5|
VU®D 150 H=4.0m 3E% [N= A
B{HE|VUP100 H=20m 1%  |N= 5|
VUD100 H=25m 1E% [N= A
VUD100 H=25m 2B% [N= 5|
a&t 5|
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NO.
AT &EETER (¢ 1800)

H B
HA7[ No.83 & F
THE Fili bl o H
JEASEE] €S 0.30m® [ m® 14.89 15
N=5 m 3.823 3.82
HhEE A+
5<N=30| m
N=30 m
JEHRE] T Wy 1
30<N=50[ m
N=30 m 2.030 203
I
30<N=50[ m
at m 5.853 5.85
. FXE - [ 1 1
BNl T
JBORE - FREX (E: =] 1 1
g 7Y —hT 27— | 30N/mm® | m® 2.5 25
)X &% m 2.00 2.00
% & m 1.40 1.40
3 o m 1.40 1.40
B
T e BA m 2.40 2.40
i m 5.20 5.20
| REER t 2.886 2.89
=y -
- B kk):ﬂ? 2 2
w8 L
m 11.4 11.40
5k m 0.90 0.90
fE & AT 1 1
27997 |t 0.81 0.81
T m 11.44 11.44
ARERE | &P 1 1
¥ om s T BT
B P [=] 2 2
- FA+ m® 1.38 1.38
#OR L
a7 —h 18N m® 4.32 4.32
vy T m® 13.36 13.36




NO.

No.8337 3 1,/2 ¢ 1800mm
LN % A HAL &
EAHEHI CS 0.30m”
V= z,/4 X 1800 %X 5853 14.89 m’® 14.89
p N=5 3.823 m
5<N=30 m
WY&+ N=30 m
30<N=50 m
I N=30 2.030 m
30<N=50 m
&t 5.853m & & 14.89 m® 14.89
[EfE
avsy)—+I V= 25 SMcE FKEHRGHEESRBR P44 m’ 25
£ ATRHIER &
BEWERE - & 1 1 1
BB R - BERE 1 1 1
T— U8
t=12mm &% L= 200 m n= 1.0 K m 2.00
& L= 1.40 m n= 1.0 Vi m 1.40
=l ) L= 1.40 m n= 1.0 Vi m 1.40
SeiE | L= 2.40 m n= 1.0 VN m 2.40
L= m 5.20
HREEE  1m4Y 555  kg/m
W= 2886 t t 2.886
BEIL L= 20 X 5.7 = 114 11.4| m 11.4
AFITAE FKIE R FHERER P44 1
F—u495| m 0.90
METE T L= 7 X 1.800 + 1.447 X 4 11.44 m 11.44
AFICAE FAKGHE R GHE ERH P443
B LERISVT W1 = 0.555 X 1.447 0.803| t
( 1.500 - 0.053 )
W2= z./4 X 0316 X 0.0942 X 1 0.007
W3= /4 X X 0.0942 X
t 0.810




NO.

No.833L 1T 2/2
e #om = M % R
BRLT S E&
B4+ VI'= x4 X 1.800 % x( 1.500 0.400 2.80 10-30
FEbR A
LEs Vi=  m/4 X 1.140 * X(
TERR V2= m/4 X 1.360 * X(
ERE V3= x/4 X 1.280°% X ( 1.500 0.400 1.42
/INGE 1.42
V= 280 - 142 1.38 m’ 1.38
avo)—k V2= g,/4 X 1.800% X ( 4.953 1.500 8.79
PEbR
WK Va= /4 X 1.280 % X( 3.453 0.090 4.33
JEE Ve = /4 X 1.360 * X 0.090 0.13
FE V6= /4 X 1.800 * X
MR V= m/4 X 0216 ° X 0.260 0.01
i 4.47
V= 879 - 447 432 m’ 4.32
BiunT
V= 1489 - 138 =+ 0.9 13.36  m’ 13.36
(BREEI]
BIRERET N= 1 1 f& 1
BEIRAT 2 2| 1] 2

CFE N H 1 e TR 1 [+ 488 B TP 1))




TERI, HE LBREER

JEAYEH -85 T
No. 83 SEHL
fEfEE TP+ m | 19.330]  GH1
bR TP+ m | 19.230]  GH2
THEE TP+ m | 13.377|  GH3
¢ 1800
Y/ GH1
T T
o t1 | VGH2 |
T |
| A
yvsy ki |
| |
| VGH3 |

No.

A—v>r2s  ANo.1
Bor. fJLO#E® TP+ m  18.900 % & = W7 LI N = L = e S
K Ui el
EBEs B E - 3" N P HIE - WE 1 B+
kh1, b2 = + &
(m) V3 (m) (m) (m) N5 F<N=30 | N=30 | 30<N=50 N=30 30<N=50

1 1.70 3 8| 18.900 2.130| 2.030 2.030
2 6. 30 1 5| 17.200 3.823  3.823 3.823

3 10. 900

4

5

6

7

8

/NEE 8. 00 10.900/ 5.953  5.853 3.823 2. 030
10

11

12

13

14

15

16

17

/NE

ot 8. 00 10.900/ 5.953  5.853 3.823 2. 030
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2EHN LI R—ILIER R
. g HfZ | No.83 it
& Rl W H
<RV m 4.863 4.863
. T-14 i
NFLERZE ¢ 600 o - | |
G B S ! !
45mm &l
h=50 1
AR ¢ 900 h=100 18 1 1
h=150 iE
130h & 1 1
TERR &
1
600h 1
900h & 1 1
1500h &
[IERES 1800h 1 2 2
2100h 1
2400h &
2800h &
&M% ~7 1y 90h 1 1 1
¢ 200 (E130
HI L& ¢ 100 EPT 1 1
675 & T




NO.

[No.83 2B#IL T < k—)L]) 11
% Yl S E‘ =N
R i 5 A fir i
MH= 4.863 m
ANFLEkE T-25 $900 X $600 (k) 1 #
REsE H= 25 mm N = 1 &y
HEEEUVZA H= 100 mm N = 1 &
)] R H= 130 mm N = 1 {H
=1 B $ 1200 H= 900 mm N = 1 {H
H= 1800 mm N = 1] A&
H= 1800 mm N = 1] A&
& i H= 90 mm N = 1 &
HIFLE
é 200 N = T
¢ 100 1 N = 1 T

¢ 75 N= & FT
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HMETHRRER

NO.
=D
H =] No.83 wl| .
E Al w B ¢ 180037 188 | = °F
FEEGIWT L T A7 7V N t=15emEA T 5.7 m 5.7
EZETREL T T AT 7 v N3 t=10cmBL T 2.5 m? 95
H7H5y L Asi 0.25 m? 0.3
AR I ST CE B o’
b5 UYa MBI L TR E m?
REIBT
T T LTy %FRC-40  t=15cm 2.5 m? 25
L JE AR T LA RM-30 t=20m 2.5 m? 95
pEAR T KA M-30 t=8cm m?
RLFRA M-30 t=11cm m?
* B T P A LR 7 A toem 25 m’ 2.5
AEIET BRHI T CRt E
AL t=15cmPA T m
2B PR t=10cmEL T m?
EHISIUEL T
AR TR t=10cmPL T 2.5 m? 95
TGy T 0.13 m? 0.1
FEAZIRH 0.13 m? 0.1
By 0.13 m? 0.1
HEE LT FAERDRLE 7 2= TOP-200  t=5cm m?
EJRN BRI E T Az TOP-200  t=5cm m?
FAEMKIET A2 TOP-13|  t=4cm m?
X[ T A B=15cm m
S B=15cm m
H B=45cm m
@R A3A+B6A 9 A 9
(R B 798 T ¢ .06




[$1800 No.833Ii)] # T

NO.

I8 H = s . H =
e i o A fir &
BT As t= 10 cm 58 5-5-15-15

= T X 1.80 5.65 m 5.7
EHIEENIET As t= 10 cm
A=  x/4 X 1.80 2.54' m? 25
HSunT As V=254 X 0.10 0.254 m® 0.25
REIBT
TEERET HiE t= 15 cm
59— RC-40 A= xn/4 X  1.80 2.54' m? 25
tERET HH t= 20 cm
RiFHfE RM-30 A=  x/4 X 1.80 2.54 m* 25
®x= B T t= 5 cm
AR EE T A A=  x/4 X 1.80 2.54' m? 25
AEIBT
SEYIMT As
SERUET As
248 15 EB t= 5 cm
= 254 2.54 m* 25
HI0HnT As V= X 2.54 X 0.05 0.127 m® 0.13
AR A t= 5 cm (
(L) = 254 X 0.05 0.127 m® 0.13
HET t= 5 cm
BB E T 2oy = X 2
=BT t= 5 cm
PRI T A= - X .
SOARIE HIZBRE T CRF L
=F 4, b=15cm BEARRR
‘ L= m
¥, b=15cm
L= m
RBAEE A3+B6 9 A
R ER M HER 1.06 t 1.06| t
M7 TR




